EARAROBEEIERT — 2 N— IBISH —F

201757H2H (B) 3@+ =2H

R EEXl

REEFI

[($57E] Fikb

‘ [R1%] & ‘ [REBE] — | Z (%) 16000 B

[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— . HALBLFE .35. - . . HER (FER)
i s\ va-75ER 3 w 1(3_5)1 2-2-2 |35.0| 82.7 | 4 (?(1)3) e
R:Va—-h7F—7 B:TFIT4TTIhH HEFERS
o5 4 3 | ERH 1:35.1 12-7-7 | 34.5|83.7 | 8 430 | BAME (ER)
1 ¢ IR 54.0 (7€) 4y | ) /—Zerx
R:ZAN=3I>TKR—L B:T)axl #stt /—Xex
= # 3 | M. FL-—0O 1:35.2 7-7-7 | 34.6| 82.6 | 1 448 | EZFEE (BR)
3 4| 7N7—0H 54.0 (7€) (+2) (Efﬂ>?7v7>>7
LNnN—ErTv— BIN—Ta 74— J=HrTrp—L
> $ 4 3 | BAKHE— 1:35.5 7-7-7 349|792 | 2 442 | BRERR (ER)
4|8l16| PVER—FTLA 5.0 o« 3 ey | ) #AL- 2R3
L:FA—=TA2NN N B:TN—-32TT7L— HET77—L
T R 3 | FEE#R 1:35.7 16-13-10 [34.9| 77.2 | 10 | 446 |E+EBSH (EXN)
5/5/(10 XH) T 56.0 (1 1/4) (-8) | MARE
LNn—-ErTrv— BRZ2-TILT7 ARSUHB A/ 77— 4
- - = lnEE :35. -11- . . aEF (ER)
6 3 O14YILy—>— % 3 gsa.o 1 (315) 9 11-11-10 | 35.1 | 75.1 | 14 (fg) DPE;:E.—
R:7—9T4—Z BENRTIU-—FI HET7—L
— FsEX :35. -4~ . . IR = (F®)
RETE I T w3 | [k 115 S I R Il B B
L:24¥>v bV B: 774 84 0— B
= 4 3 | REHE 1:36.0 12-12-13 [ 35.1 | 74.1 6 40 | BRERE (ER)
EH 6| AF—71h a0 (3/4) (- |4 H. 147 ENAK
R:F4—TANT b BUAXZEZ—Ly k H—L— - T4 - 77— LARS
N 3 w3 | JIERE 1:36.3 9-10-10 |35.5| 70.2 | 7 468 | HUETEIE (3ER)
9|8|15| /NV=F TN — 56.0 @ Co | B T xsxsb
R:Fq—TTVI>F B:T7—<IT b REHS
# o3 | dtRR— 1:36.5 6-4-4 | 36.1| 65.7 | 11 484 | AEHEN (BR)
1059 Y h/RIVR 56.0 (1 1/4) (+14) BRA
L:nN—=v774 B:tILxX =Y Ty—LA
N B 3 | DOEEEEK :36.5 15-14-14 . . =i (EXR)
17|14 B> 7= VT7R=I * 753.0 (nF) 4] 0901 10 (ﬁi) SRELEA
RN=VI54 BiHrITIT TS
TS 4 3 | AEEN 1:36.7 32-2 |36.5| 625 | 5 488 | BIER (FR)
12011 by 77> 56.0 (18 bg | ) s—2enx
R:TIy 84K B:ovav4— =5 JE—
5 4 3 | BEBZ 1:36.7 9-14-15 | 35.3| 67.0 | 9 456 | HEFNIR (3ER)
13 g|F—2%7 54.0 (7E) (-q) |KEFE
LG4 7 hT—IbEY B RUT/LINLZX TS
. o FRIOARA :37. -1- . . AKER (EX)
14111 YT HTS—X % 3 frﬂ.o 1(337)2 1-1-1 37.2| 56.1 | 15 (ﬁ;) jt;;*%
L:wiNyBLhTr BV HhLT— SRS
A LA A 3 | BRR 1:37.3 14-14-15 [35.9| 60.3 | 13 | 440 |MREFZ (FH)
EH 5 IR A L Z— 56.0x (1/2) (-10) FhE
ST R DR VS EY 0 = g =S TR
. S # 3 | BEEE 1:37.4 4-4-4 |36.9| 55.6 | 12 | 444 |HHEIR (RF)
1617113 AINTTv 7T 56.0 1/2) (va) B
R:TF79v 724K BNLT 7L palicke)
@ 71 L
) 47.3-35.1
NA>ZA4 L | 12.7-11.4-11.8-11.9-12.2-11.8-11.6-11.7
® I —F—@EBIERL
13=3r=
20—+ — (%1,7)11(2,13)9(4,16) (8,15)3(6,12)5-14,10
Gal=7r= 1(7,11) (2,9,13) (4,16,12)15,3,6,10(5,8,14)
43 —F— 1(7,11) (2,9,13) (4,16,12) (3,15,10)6,14-(5,8)
[ N3
B O 7 760/ 714K 7-12 2,170H 7 E 4-6 2,540M RPEL ) 4-7-12 7,960/
BB 7 230 4-7 480M B = 7-12 8,400M 3EE 7-12-4 59,340
12 700/ 4-12 1,600 | | B B 7-12 12,610
4 1604

ABICOVWTRDTEEERROODE. TR LIV,




